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Q1. Two point charges having charges g = 0.6 nC and g,= -1.2 nC are fixed as
shown in figure.
a. Find the magnitude and direction of the net electric field at point “p”.
b. Find the magnitude and direction of electric force on charge g3 = -2 nC

intoduced to the point “p”.
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Q3. Two uniform positive line charges of infinite length are arranged as shown in the
figure below.

a- Find the magnitude and direction of the total electric field at a point ‘p’ .

b- Find the magnitude and direction of the electric force on a point charge g = 2uC

placed at the point “p”.
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Q3. A positive point charge q = 24Cof mass m= 2 x 10°%g released from rest in a
uniform electric field E=5x10° N/C directed a long the x-axis as in figure. Find

a. The electric force on the charge.

b. The potential difference between the points a and b.

c. The kinetic energy of the charge.
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Q4. Consider two spherical gaussion surfaces A; and A, of radius R = 20 c¢cm, as
shown in the figure. The only charge present is the charge Q = 4uC at center of
surface A;.

What is the flux through surface A;?

What is the flux through surface A,?

Find the electric potential field at point C .

Find the electric potential field at point D.
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Q6. A small nonconducting ball of mass m = 1 mg and charge d=2X10"°C hangs

from an insulating thread that makes an angle 6 =30°with a vertical uniformaly
charged large nonconducting sheet. Calculate:

a. The magnitude of E — Field produced by the sheet.

b. The surface charge density o of the sheet.
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Use the following terms:
K = 9x10° N.m?/C? €0 = 8.854 x 102 C4/N.m?, me=9.1x10"*Kg
m,=1.67x10?"Kg e = 1.602 x10™°C g =10m/s’

Ho = 4m 107 T. m/A Na=6.022x10% mol™*
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02a) " o003’ ®Toos E-E+E = (091 +12j) x10'N/C
E,=1.5E7 N/C, 0=53.13°

F = qE, =(187 + 24]) N

b) F=30N , 0:=53.13°

Q3 E=5x10°N/C F=gE = 00IN , V, =Ed = 500V, E, =qV,, =1mJ

Q4 a) ® = 4uCle, = 0452.10° N.m*/C

b) Ec =K.Q/(0.2)*> =900kN/C
¢) Vp=K.Q/(0.3) =120kV

Q5 Tsind =qE

T cosé =mg
LE = MO _ oesen/C
q

E=-2 6 =2E=51nC/m?
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